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1. FREMHCSHRR I TREL:
(1) f=2X+4xy+2y*—2yz-3Z"—4xz,  (2) f=%x%X—X —XX, +3% —2%XX, +2X;.
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2. R—NEZRZR T ZIRBI PR |
(1) =2 +3% +3% +2%X;
(2) f=2XX+2XX —2XX, —2XX, +2X,X, +2XX,

3. Fi Lagrange B/3 & 0AF IR BLOFRERZ :
(1) f=xX+y -7Z -2xy—-4xz—4yz;
(2) T =XX%+XX+XX +XX+ XX +XX, .

4. FIETHEM IRBYERAER:
(1) =X +X+X +X +2XX% +2XX% +2XX, ;
(2) f=2x"-2xy+3y’ -3xz+9Z7".
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5. SEBE: REL f = X AXTE||X] = | BIHOBAIEATSHE ABYBAHSIEE.

6. tEHAMER, TF ORELEIEERT?
(1) f=X+X +5% +2tXX, —2XX, +4XX, ;
(2) f=2X +8X +X +2tXX, +2XX,.

7. BHITREIE X +ay’ + 722 +2bxy+2xz+2yz=4, AILURIIERTHE (X, Y, 2)' = P(&E,n,0) AR
HEAREN +4(° =4, Ka,bRYEFIEREREP,
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8. BEITREL f(X,%,%)=(1-a)x’ +(1—a)x,’ +2x, +2(1+a)x X, fFH 2.
(1) kagyg;

(2) KIERTHE X =Py, 18 (X, %, %) WItRER;

(3) XRI57E f (X, %, %) =0 HIfE,

9. BSETREY (X, %, %) =ax’+2%,° —2x" +2bx x, (b > 0) , Hrh TRBIIFER ABUSHEEZ N 1,
HHBEZFRR-12.

(1) Xka,bByE;

(2) KIEREH x= Py, 18 f(X,X,, %) XAIRER.




